Aluminum Pull

UCF ZIWEBHOF

~
ol Lo als
: W

[ ] *ZEPH:J:IT‘ 0ROHS
UCF-BL UCF-BK / UCF-SG

s FLEZULES FILEZOLES
INUIVEREE BHERE (SB)

FRATA AL SUSXM7 SUSXM7

(QURBY—ER)

® BBEIEE

UCF-20-200-BL
| —

A4S - MEAIINBK DT T U A b2 TELEE L,

UCF-20-200-BL-P
\ .

AUAE

Lt
RUREY —ER (BINE) ZCHROBE . BREEORRIC P =EN
LTLRE L,

mE A L1 H h L

UCF-20-200 20 200 68 48 220
UCF-20-250 20 250 68 48 270
UCF-20-300 20 300 68 48 320
UCF-20-350 20 350 68 48 370
UCF-28-250 28 250 78 50 278
UCF-28-300 28 300 78 50 328
UCF-28-350 28 350 78 50 378
UCF-28-400 28 400 78 50 428

*1: ANDFCEATIHBHECT.

T IYU—Vkig - TU— A = Pooox
BEVELELREEV

N\ NBK @E/17y021 0575-23-1162

Lf

15
15
15
15
15
15
15
15

-

MAN&MACHINE
ELEMENTS

% |UCF-BL

UCF-BK

® MEED 7 L=E>F.

o RANEDONUI—Y3VI3 3B, RBORELSICEY
BIRCEXT,

KERS REUIE
BL NUIVEREE

BK BERE (DPHLE)

SG BERE (DPBLYILN—)

o BHEREF. BN DTV DPHELIA T ERZDH D
HEITT,

® A Y3V TR DIFADNAITUTERILN(SUSXM7 &)
EHBLET . RUHEBY—ER (BIEE) #THBLEE W,

BT mm

moo e mme SRR

M8 1000 240 M8x16

M8 1000 280 M8X 16

M8 1000 320 M8X 16

M8 1000 360 M8x16

M10 1000 550 M10x 16

M10 1000 630 M10X% 16

M10 1000 710 M10%x16

M10 1000 800 M10Xx 16

/ L—Y'ZIEN = P.xxxx
MG - RIS

info@nbk1560.com https://www.nbk1560.com



